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|RN\'K|| NAME | ouT | IN | GROSS | HDCP | NET || ik | |R.~\NK NAME | ouT | IN | GROSS | HDCP | NET || fifi& | |R.~\NK|| NAME | ouT | IN | GROSS | HDCP | NET || fifi % |
| (Ky & 43 42 85 [14.0 | 71.0 || = s (B &/— 48 44 92 120.0 | 72.0 || = ~=zu| |[#EE||eN = 50 49 99 [25.0 | 74.0 [[* ~=zm

2 ||x B— 43 43 86 |10.0 |76.0 || * 2 || X5 50 45 95 [22.0 | 73.0 |f = 2 |MER #X 54 49 | 103 [26.0 | 77.0 || =

3 ||FE T 43 43 86 | 9.0 |77.0 || * 3 |[ILR  &A 47 51 98 |121.0 | 77.0 || * 3 || E4x| 50 50 | 100 |23.0 | 77.0 || *

4 [[EaK #EX| 4 49 90 |10.0 |80.0 || * 4 ||FE B= 50 46 96 [19.0 | 77.0 |f = 4 || KE #BE 59 60 | 119 |138.0 | 81.0 || =

5 |[/NEF FHE 42 42 84| 4.0 (80.0 || ~=sm 5 ||ZR Kk 50 44 94 [17.0 | 77.0 |f = 5 |[HEH H#r 52 57 | 109 |27.0 | 82.0 || =*

6 ||BEHE HE 47 47 94 113.0 |81.0 6 ||[EEHE 1E 47 48 95 [17.0 | 78.0 6 ||ZFE #E5A 56 58 | 114 |31.0 | 83.0

T ||#E H 43 47 90 [ 8.0 |82.0 || = 7 || BE 44 53 97 [19.0 | 78.0 || = T ||ARE X[ 52 56 | 108 |25.0 | 83.0 || =*

8 |[BA A= 50 48 98 |15.0 |183.0 8 ||¥FHE Tt 48 51 99 (20.0 | 79.0 8 ||| i 56 54 | 110 |25.0 | 85.0

9 (|2 FEX 47 49 96 |12.0 |184.0 9 ||tcHE A 47 52 99 (20.0 | 79.0 9 (|[2X =M 55 58 | 113 |127.0 | 86.0

10 |5 B= 51 48 99 |15.0 |84.0 || * 10 (| [ER 52 46 98 [18.0 | 80.0 |f = 10 [[BHA =R 54 58 | 112 126.0 | 86.0 || =

11 (28 = 42 45 871 3.0 184.0 11 ||\ & 46 50 96 [16.0 | 80.0 11 ||BRie EHE 56 60 | 116 |29.0 | 87.0

12 ||#B #& 46 50 96 |12.0 |184.0 12 [[#t £ 3BEE 48 53 | 101 |20.0 | 81.0 12 ||3Ef% AR 59 60 | 119 |31.0 | 88.0

13 ||BH ER 45 51 96 |12.0 |184.0 13 ||t E— 52 51 | 103 |22.0 | 81.0 13 |[kE B 56 61 | 117 |28.0 | 89.0

14 ||#EB B& 49 49 98 |14.0 |184.0 14 |[#K Fi 49 49 98 [16.0 | 82.0 14 ||[FE#  —BR 61 57 | 118 |128.0 | 90.0

15 ||#W 175 42 53 95 |10.0 |85.0 || * 15 (BNl @k 51 50 | 101 |16.0 | 85.0 || = 15 [[BEiX &L 56 65 | 121 129.0 | 92.0 || =

16 ||§F —E 45 49 941 9.0 185.0 16 ||£R =7 51 56 | 107 |22.0 | 85.0 16 (|lUF BE 59 56 | 115 |23.0 | 92.0

17 ||=# g 51 49 | 100 |13.0 |87.0 17 ||#1% IERS 49 58 | 107 |21.0 | 86.0 17 ||#afR # 55 66 | 121 126.0 | 95.0 (| * 7—t—

18 ||[&E EF 50 51 | 101 |14.0 | 87.0 18 [|[&8 HM4E 54 51 | 105 |18.0 | 87.0 18 ([kEF &z 12 97 | 169 |38.0 |131.0

19 ||fBR BAX 49 50 99 |10.0 |189.0 19 ||[fBFE =4 54 57| 111 122.0 | 89.0

20 ||HR #EB 55 51 | 106 [15.0 |91.0 [[* v—v—| | 20 ||FFH EEB 52 60 | 112 119.0 | 93.0 || * 7—E&—

21 || BAE 49 57 | 106 |15.0 |91.0 21 ||RE BN 56 70 | 126 |20.0 |106.0
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